Total Pages—8 C/18/B.A./Part-1I/3T(N)/PHIG/2

| NEW
2018
Part II 3-Tier

PHILOSOPHY
PAPER~II

(General}
Full Marks : 90

! Time : 3 Hours
The figures in the right-hand margin indicate Jull marks.

Candidates are required to give their answers in their
' own words as far as practicable.

[ Long-Answer Type Questions ]
/Answer any two questions, taking at least one from each
'Group: 2x15
| Group—A
) Ekplaj.n and examine Berkeley’s subjective Idealism. Do
' you think that the logical conclusion of this theory is

. solipsism ? 6+5+4
2. Why do we consider Kant's theory as Critical Theory ?

: Explain. 15

{Turn Quer)




3. Explain the theory of Interactionism regarding the
relation between mind and body. D6 you consider this to
be a satisfactory theory? 10+5

Group—B

4. What is opposition of proposition ? Explain and illustrate
its different kinds. How does Boolean interpretation of
categorical propositions affect traditional square of
opposition ? 3+8+5

5. What is hypothesis? Explain the different steps of
Scientific Method. 5+10

6. Define a categorical syllogism, Explain the roles of major,
minor and middle terms in a categoerical syllogism. What
is meant by Figure' and ‘Mood’ of a syllogism ? 3+6+6

| Semi-Long-Answer Type Questions ]

Answer any five questions, taking at least two from each
Group: 7 5x8

Group—A
7. Explain briefly the main tenets of Naive Realism. 8
8. Explain Descartes doctrine of Innate Ideas. 8
9. What are the chief tenets of rationalism ? 8
10. What is objective Idealism, according to Hegel. 8

11, “Mental states are identical with certain physical states
of the brain”—Discuss two of the difficulties of this view.
8
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Group—B

2. k’rove that :

:(i) (A) Proposition cannot be converted simply.

:(ii) (A) Proposition cannot be converted at all. 4+4
13. ;‘I‘est the validity of the following argument by means of

Venn Diagrams ;.

@ Al -1

(i) EIO - IV ' 4+4
14. : Use truth tables to determine the validity of the following

‘two arguments :

@) por

‘ p2q/ . gOr

(i) BDA

 ADB/ . B 4+4

15.' Use truth-tables to determine the following statement
; forms as tantologous, self contradictory or contingent :
M Po2p>p
() p2la~ g D p] 4+4
16. Obvert the following propositions :
(i) Snakes are poisonous.
(i) A few soldiers are heroes.
¢ (iii) Any jewellery is expensive if it is made of gold.

~ {iv) Members will sit only in the front row. 94
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17.
18.

19.
20.

21.

22.

23.
24,

25.

[ Short-Answer Type Questions ]

Answer any five questions, taking at least fwo from each

Group: Sx4
_ Group—A
What is the relation of entailment ? 4
What does the expression Tebula Rasa mean ? Who has
used this term and in which context? 2+2
Give two examples of synthetic proposition. 4
Who upholds the distinction between the primary and the
secendary qualities? Who has not accepted this
distinction? 2+2
‘Esse esti percipit*—who says this ? What does it mean ?

2+2
Group—B

What will be the truth value of the following proposition,
when P is false and Q is true

i P=Q

(i) ~Q --P ' 2+2
What do you mean by dilemma? 4
Express the following proposition by means of Venn

Diagram
(i) All horses are four legged animals.
(iij Every politicians are. not lar. 2+2

What is meant by “distribution of terms”? 4
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26. Fill in the_bianks : ' 4

If £ proposition is true, then its corresponding A is

: » 1is — O is .
IEw
AT EITG RIS ery i)
AHFACT TSI HUed ©ra By oredr e )
| ( ST et )
ﬁmﬁ@m (AF G I o T i 5 et S s
' X
Retst—
51 ST SO SIRAT ARG WA B9 w5 WA Wy o
TSATH (EF AR 71 e wamy Lre+s
Y meﬁmwmﬁmﬂwﬁmmﬁﬂnw:
pY¢g

© (7% @ AT 795 R STRGIRRT TR 991 «F Toaw &
|
ALEEGAF 6] A TA7 So+g

Retn—
81 WL Rzftet e Siggd g aa RSy oo g o9,

fFaere o 30T T TSI 2ldiets [y v o
gor oR I Qv

C/18/B.A./Part-11/3T(N)/PHIG/2 {Turn. Cver)




¢ =FY IS AT @RS 2o R yetafd a F91
(LE -3

v FRCeE Wi west wie | Harers E Ag | A% O R }Y AT
SRR TG 39| IR S 8 A TS @A 0orvry

( MR- Tom R epieet )
53 Rot! (A g ST 7570 e fes o Aiv/D ereta B
W8 2 | b ¥
_ fet—=
q] FRREIE Yo IFqefT | v
bl (SIS ATHS QAN OGO LA FH! %
5| IR e tafENaf e 4

0| IYIS OIEAM FICF I (LN A ILF THI wret v
53| TR WY Ze AREEd A W K wfeH—«iR WeF 7o

FB Wb 37 v
frei—y -
LN ERE
i) A I6TAY I WIGH FHI 7
(i) A ITAF SIRET ST FSI AW 8+8

yo| oo Braw sy FsfiRe feofm tarst Rem 77 3
(i) Al -1
(i) EIO - IV - 8+8

C/18/B.A./Part-11/3T(N)/PHIG/2 (Continued)



>s|ww%mﬁﬁ%ﬁwq%oﬁahmﬁmw.

) pOr
P24/ .:.q0r
| i) BDA
ADB/ . B 8+8

L% | ASPIR A AR NGA IRl Fommer , wosfie 7 wsifes
S RANS 3

() pD>pDp

H p>ig-~ q 2p] 8+8
%) To Aok Rl w0 me s %8
i) A+ Rwm 2 '

(1) oo Al
fﬁi}m@mwﬁmﬂﬁm mﬁmmm
(iv) FPTR (A AN HRATSE P |
( efre-Bamad bl )
, Aow ofSf Rett cave wwssive 76 w3 ol few G A5
AT Te7 e ¢ @x8
fRem—s
Y91 oS T f oS & @R | 8

| Tabula Rasa™9% ¢ 7 (& Q@ 2% < J927 I ?
| - 34}

C/18/B.A./Part-1i/3T(N}/PHIG/2 . {Turmn Over)




W81 WCHIT IR AL GHIZI WG| 8

30| (F I8 (N adalem TG A1 FR0EA 8 (F 9% A TR
I 2 ' ST

231 Esse est Percipii'—af 31 ftrr @2 SRefa ol B2 a4y

fRett—<
331 A P e @ Q WOy T wiEte fATee qw0e werfey e #,
i) P=0Q
(i) ~Q -~P R
o1 fiew Ww e & @R | 8
38| v wauf confora et 3 s
(i) S CIRTT T SR 2

(i) o F@EASRA 7= R Y
¢ | AR ISl TS F @ e | 8
v AR 7 Fh . | 8

M /A E NS 7W, SR 4F S A TS , 1 ]

Lo |

C/18/B.A./Part-11/3T(N)/PHIG/2 TB—



